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The following equations and constants may be helpful to you.  You may fill the double-
sided page with handwritten notes.  

   

 dS = D E( )dE    

eiθ = cosθ + isinθ  

 
 = h

2π
= 1.05 ×10−34  Js = 6.58 ×10−16  eVs

 
hc = 1240 eVnm   

 
  

  

 

fFD E,T( ) = 1
e E−EF( ) kBT +1  

fMB E,T( ) = Ae−E kBT

 
fBE E,T( ) = 1

eE kBT +1
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kB = 1.38 ×10
−23 J/K = 8.6 ×10−5 eV/K e = 1.6 ×10−19 C

me = 9.1×10
−31 kg = 9.1×10−28g = 0.511 MeV/c2 NA = 6.02 ×10

23 atom/mol

 
µB =

e
2me

= 9.27 ×10−24 J/T = 5.8 ×10−5 eV/T ε0 = 8.85 ×10
−12 F/m

µ0 = 4π ×10
−7 H/m

σ =
ne2τ
m *

RH =
1
nq

ω p =
ne2

ε0m *

ΔV = SΔT

 

B = µ0


H +


M( )  


D = ε0


E +

P( ) χ =

M
H

≈
µ0M
B

 
CV =

π 2

3
D EF( )kB2T

Kel

σT
= L = 2.45 ×10−8WΩ / K 2

nc = n − iκ ε = ε1 − iε2 n2 = ε
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